e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




Rot sy

== Land
COOPER F55,F56
BM-124 MN-13163
Lateral Arm Bushing Axial Joint
Rear Front
33326870773 32106854736

BM-23121163

Steering Tie Rod Assembly

BM-23122163

Steering Tie Rod Assembly

Front Right Front Left
32106854736 32106854733
MN-16168 MN-16169
= Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
a N Assembly Assembly
Front Right Lower Front Left Lower
31126850398 31126850397
MN-14166 BM-201109
Stabilizer Link Control Arm Bushing
Front Rear
A=320MM 3336851569
31306862863
MN-14167 BM-19127
Stabilizer Link Lateral Arm
Rear Rear
33506862865 33326851569
BM-12121 BM-14120
Tie Rod End Stabilizer Link
Front Right Front
32106867405 31306862864
BM-19126 BM-12122
Lateral Arm Tie Rod End
Rear Upper Front Left
33326870773 32106867404

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MINI

2014 after

parsrot.com

4

info@parsrot.com



—
sy L and

COOPER

COOPER

F55,F56
BM-201003 BM-201004
Control Arm Bushing Control Arm Bushing
Front Right Front Left
31126874342 31126874341
R50,R53
MN-16107 MN-18106K
Suspension Control Arm Suspension Control Arm Kit
Front Left Lower Front Right
31126761409 31126761410
MN-18107K  MN-14110
Suspension Control Arm Kit Stabilizer Link
Front Left Rear
31126761409 ~ --233mm
33551507999
MN-13103 MN-23101103
Axial Joint Steering Tie Rod Assembly
Front Front Right
M14x1,5Rht-L=184mm 32116754564
32116754564

MN-23102103 MN-23121103
Steering Tie Rod Assembly Steering Tie Rod Assembly
T Front Left Front Right
32116754563 32116777522
MN-12101 MN-12102
Tie Rod End Tie Rod End
m FrontRight  Front Left
M14x1,5Rht M14x1,5Rht
32216754566 32216754565
— MN-12121  MN-11109
Tie Rod End Ball Joint
H Front Right Front Left
M14xT,5Rht 34126753991
32116761560

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MINI

2014 after

2001-2006

parsrot.com

5

info@parsrot.com



Rot sy

Stabilizer Link

Control Arm Bushing

= Land MINI
COOPER R50,R53 2001-2006
|
MN-16106 MN-23122103
& Suspension Control Arm Steering Tie Rod Assembly
A Front Right Lower Front Left ‘.__. ~
31126761410 32136761559
]
MN-12122 MN-11105 e
Tie Rod End Ball Joint
i' ﬁ Front Left Front Lower
M14x1.5Rht 35126756300
32136761559
] |
- MN-11108 MN-14111
Ball Joint Stabilizer Link
Front Right Front o L
31126753992 Only:Cooper L=331mm -‘i "
31351507989
| |
MN-14112 MN-20601
|

2004-2007

Front Front Right Outer

Only:Cooper L=331mm 31126757562

31356759537
MN-20602 MN-20603
— Control Arm Bushing Control Arm Bushing
Left Rear Inner
31126757561 31126757551
COOPER R52
|

MN-20603 MN-20602

Control Arm Bushing

Control Arm Bushing

Inner Left Rear
31126757551 31126757561
MN-20601 MN-14112
Control Arm Bushing Stabilizer Link
Front Right Outer Front
31126757562 Only:Cooper L=331mm
31356759537

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

6

info@parsrot.com



Rot sy

Suspension Control Arm
Front Left Lower

31126761409

mw Land MINI
COOPER R52 2004-2007
|
- MN-11108 MN-11105 o
Ball Joint Ball Joint i
Front Right Front Lower
31126753992 32126756309
| |
MN-12122 MN-23122103
Tie Rod End Steering Tie Rod Assembly
h Front Left Front Left i'_- ™
M14x1.5Rht 35136761559
32136761559
| |
MN-16106 MN-11109 =
S Suspension Control Arm Ball Joint
A Front Right Lower Front Left
31126761410 31126753991
| |
MN-12121 MN-23121103
Tie Rod End Steering Tie Rod Assembly
N Front Right Front Right ~ e i
M14x1.5RNt 35416777522
32116761560
| |
MN-13103 MN-14110
Axial Joint Stabilizer Link
_4 Front Rear x E
M14x1,5Rht-L=184mm L=233mm
32116754564 33551507999
| |
MN-18107K  MN-18106K
Suspension Control Arm Kit Suspension Control Arm Kit
Front Left Front Right
31126761409 31126761410
|
MN-16107

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 7 info@parsrot.com



—
sy L and

COOPER

R55,R56

MINI

2006-2010

MN-23131133

Steering Tie Rod Assembly

MN-23132133

Steering Tie Rod Assembly

Front Right Front Left
- 32106778548 32106778547
|
MN-12131 MN-12132
Tie Rod End Tie Rod End
h Front Right Front Left
M14x1,5 M14x1,5
32106778438 32106778437
|
MN-11130 MN-11134
— Ball Joint Ball Joint
Front Front Right Lower
31126772305 31126772304
MN-11135 MN-16138
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front Left Lower
: Front Right Lower
= 31126772303
- 31126772302
MN-16139 MN-16138N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
31126772302
31126772301
|
MN-16139N  MN-13133
Suspension Control Arm Axial Joint
Front Left Lower Front
31126772301 M14x1,5-L.=195,5mm
32106778548
|
MN-14137 MN-18138K
Stabilizer Link Suspension Control Arm Kit
7_‘ Front Front Right Lower
L=299mm 34126772302
31356778831

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

8

info@parsrot.com



Rot sy

= Land MINI
COOPER R55,R56 2006-2010
MN-18139K MN-14136
Suspension Control Arm Kit Stabilizer Link
Front Left Lower Rear
31126772301 ~ L=233mm
33506772789
MN-20749 MN-20750
Control Arm Bushing Control Arm Bushing
Right Left
31126772235 31126772236
COUNTRYMAN R60
MN-14136 MN-13133
Stabilizer Link Axial Joint
Rear Front
L=233mm M14x1,5-L=195,5mm
33506772789 32106778548
MN-14144 MN-14145
Stabilizer Link Stabilizer Link
Front Right Front Left
31359806352 31359806351
MN-14146 MN-14147
Stabilizer Link Stabilizer Link
Rear Right Rear Left
33509803516 33509803515

MN-23141133

Steering Tie Rod Assembly

Front Right
M14x1,5

32109803322

MN-23142133

Steering Tie Rod Assembly

Front Left
M14x1,5

32109803321

MN-23151133

Steering Tie Rod Assembly

Front Right
M14x1,5

32109808838

MN-23152133

Steering Tie Rod Assembly

Front Left
M14x1,5

32109808837

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



—
sy L and

COUNTRYMAN

R60
MN-12141 MN-12142
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
32109805552 32109805551
MN-12151 MN-12152
Tie Rod End Tie Rod End
Front Right Front Left
M14x1,5 M14x1,5
32109808840 32109808839
MN-11140 MN-16148
Ball Joint Suspension Control Arm and Ball Joint
Assembly
Front
Front Right
31109803662
31129806520
MN-16149 MN-16148K
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right
Front Left
31129806520
31129806519
MN-16149K MN-201074

Suspension Control Arm

Control Arm Bushing

Front Left Front Right Outer
31129806519 31129803498
MN-201075

Control Arm Bushing
Front Left Outer
31129803497

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

MINI

2010-2014

parsrot.com

10

info@parsrot.com






